03250 ZFERHIR

7= miiEA

M
BN

I
ZBmEN, BEEMITELE,

B

RENAHBRRATHREMKEZEESIRE DIN 650 Froxw T HEHN
TEAIT. HAMUTFAXENSOE S, ERXENTELSEHEE
o

Ay

D1
- L

Se) (o) = =

S BN, _ <lc:
03250-10 10 45 8 8 20 43 M4x10
03250-12 12 53 10 8 20 53 M5x12
03250-14 14 6,6 11 10 22 6,3 M6x16
03250-16 16 6,6 11 10 22 6,3 M6x16
03250-18 18 6,6 11 10 22 6,3 M6x16
03250-20 20 6,6 11 10 22 6,3 M6x16
03250-22 22 6,6 11 12 32 6,3 M6x16

© norelem www.norelem.com



03250 FLHF iR

© norelem www.norelem.com



